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CHIAT, ) BEL  x—2y=19—8 > PEFEE L b > BIE AP B/ MERS » p BHA AL
A ?
(A) (5,2) B) (-5,-3) ©) (3,-2) (D) (2,%)

R () =a’ +bx* +ex+d 0 Ha+e=2 >~ b+d =3 K f(x) BELL - 198RS Anl 2

(A) 2x+3 (B) 3x+2 (C) 2x-3 (D) 3x-2
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(A) 4

(B) 46 °
© 56

El(—)
D) 6 ¢
CBfla ~ bR ES 60° 0 \a\—m s 2, 1) B FFE TR » KalEb FHESE B 2
(A) (245,+/5) B) (5,1 © (2,1 (D) (20,10)
3% f(x) B REKE  HAERK f(x) >0 ZRHEES -2 < x < 6 » SKAEZL £(2x) < 0 BUFEEM ?
(A) x<—48 x>12 (B) —4<x<12
(C) x<-18x>3 (D) —1<x<3
# ﬁ’ﬁjﬁﬁfﬁﬂ{alirbly:Cl el G4 Stha=| " M a =[O T
a,x+b,y=c, a, b, ¢, b,
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Yla, ¢ A +A,
7 3
A) —— B) — > - D) >
(A) 3 (B) 5 © (D)
X 1 3
Elx=1 2 4|=0>Hlx="?
x+1 0 7
(A) 0 (B) 2 ©) -1 (D) -3

.i%log, a=5 ~ log, b=8 > Hlllog, (a+b) Htz:x I 9 —{ &% 5 ?

(A) 13 (B) 11 ©) 8 D) 5
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9. HRfl y =a" ¥l y =log, x WIIEIEZ » T YIRGA ] TEHE 2
(A) y=a* WEATEE R IKT 4R
(B) & /A B FIRE/ ERIEE -
(C) y=3xHly=log, x LA MHE;
(D) HEML : x+by+c=08 y=a"WEIZEE; > QIEHRL : bx+y+c=0Ey=log, x &

IZ=EW
10. TYEIEEH » [ ZHRARAME ?
(A) 2sin20°cos?20° (B) sin50°cos30°—cos50°sin 30°
(C) cos100°cos20° +sin100°sin 20° (D) cos*10°—sin” 10°

11. %W &E 3, 4) M\ E (a, b) F17 > HIEL (a, b) BIEHRR 4x -3y +15 =0 FIERAEZ A 2
(A) 5 (B) 3 ©) 1 D) 0

12. 34 10 B R A B ()T » BI04 PORg il i A 2
(A) 4B-AF E  p
(B) 4B-AE
(©) @.E

(D) 4B-AC -
() A B

13. FONAIEHITTEBE C) 2
(A) 5 6 FAHRIFIEK - (LR ZBUIA 3 [EA R FE T
(B) i€ 6 FEAHFIRYERH » (EEHUH 3 3R - BOA 3 (EFHREIFEF - mAEHE 1 Bk
(©) 1 6 FEANFRIERA » (EEHH 3 3R - BOA 3 (EfHREIFEF - mAEHE 1 Bk
(D) fi& 6 FANRIFIERH - AETFHUL 3 2K » BA 3 EANEIFE+ - FFAERE 1 5K

14. 3K A+0)+ 10+ +A+x)° +--+ A+ 0" B R - BEFEEEHE - < EIREEM ?
(A) 462 (B) 330 (C) 210 D) 6

15480~ 1~2~3~4~5 6 SLEMEBT T (LR H = EHRBCHER = (18- A3 ATk A1
(1 g
(A) 210 (B) 105 (©) 75 (D) 40

16. H1-iBHER 2 +ke+4=02—1R » FHIFCM{A & EHE ?

A) B—IRE1+i B) FH—IRE2+2i
(C) B—HEE -3 (D) k=2
17. CH1AOAB 1 » 0 BIFEE » A BAMEE (1,3) » BEEE 5 » OB=4 H £A0B=60° » K B
BE AR ] 2
(A) (-2,24/3) (B) (-243.2) (C) (~1,+/15) (D) (=15 .1)
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18. A y = £ (x) = /3 sin x +cos x FIRGH » T ¥ FHE ?
(A) yHIEIMES -3
(B) BLEEAEAR ~
(C) BLEBHEZELE AR y = 2 1A — Bk

D) f(x)= 251n(x+%)

19. G (a,) BEEBE] > Ha +a,+a,+a,+a; =10 ~ a,+a, +ag+a, +a, =60 > BILFEAEHKT]
A7 d ] 2
(A) 1 (B) 2 (©) 3 (D) 12

20. JHE(=)FR » B~ £ W1ﬁﬁ%ﬁi@ﬁ(@€%ﬁﬁfiﬁi@)ﬁ’ﬂffﬂ%$’§%% » HAFHRAM A2
S AT A FLE] B HIREES ] 2
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©3 Bl 7
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21. B ~ 2 AN BFRGEITEEEREPRELE » Eﬁé%ﬁ%ﬂ@ff%zé%% ’ Zé%ﬁ%ﬂ@*%%%%% » SHIEAR
TEHRISRGRT » 2R —5 » HIH 2182184 1000 T @ A0 2B FI8E SR ER R ?
(A) 640 JT (B) 600 JT (C) 400 JT (D) 360 JT

22. EHIEEGRBUTREZ 1" + ax’ +bx” + cx+9 = O H PUEFHER AV EHUR » QI TSI RE TR
HA—4R?
(A) -3 (B) 1 ©) 3 D) 9

23. & xy B x=0 >~ y20 ~ 2x+y<10 ~ 4x+3y<24 > HI5x+3y R AMEE ?
(A) 29 (B) 27 (C) 25 (D) 24

24, kst L2 o XL e s R 2
x x—-1 x"—x

(A) 3 (B) 2 ©) 1 (D) 0
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G E B 72 MH (] 2
(A) EHAE (B) 2 (C) 3%H (D) 4 #H
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